N HARDY
5060# ZEQREIIEEE

Double-Slide Facing Head

ERREIE R IR RS TNEBHERRL « ERRERTE » ERREEITIZAHR
BIFERS -

BEEISHR R EBE - BITREMAMIFERL -

ENFEE : +0.03mm

Feed mechanism is transmitted by Crank or Wedge Plunger,with steady feed
speed. Simple adjustment for feed speed and stroke.

Matching surfaces of all parts hardened,ground and lubricated directly. With
Rigidity and durability.

Stopper accuracy : +0.03mm

ER{T1E R0 BRG] 5O -

= Suitable for using with RS type cylinder.

G N &
P H_ =
gir
K r =
P n % 7
H a Q[ —F =8
x J ™ «
] CTo-h-oR ©
$ ] » =:g
K . OO s
& 8 B
Q
<| o w — [ o =_>G§_= é
= %
J |6 & 2 é % x
e S &
::—-—L o & : 2 i E %)
e - [ o\
6L PN | o
1= ‘ o )2
5 w > N®
B N
u
FD-632 * ERIEE) (B2 HEEE) v
FD-840 CRANK TYPE (Able to match hydraulic transmission)
FD-1060 FD-880 *#esz\esHHE WEDGE PLUNGER
. - B SEREE)
IREBRISIENAVIER] Able to match servo transmission

Subject to technical changes.

_ M g et p & KERGS = < . o5
#R1% Spec. BFEmm | EEEEE @ mm Ei.lil._ﬁ%%l EEXJE?H_E@ 8 kg BT RAERET]
Plunger stroke (Dia.)| Slider stroke (Dia.) il L) LY 71 Weight Matching cylinder Max. Pressure
HU8% Model. : : Max. speed Max. feed speed Mpa (kgflcm?)
FD-632 20 32 3200 300 13.6 RS-1030N 2.4 (24)
FD-840 25 40 2500 240 30.0 RS-1030N 3.0 (30)
FD-1060 35 60 1800 200 41.5 RS-1040N 3.0 (30)
3% Size G
HUZE Model. A B L) D E F max. min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 8225 7.5 2 36 M20x%2.5
FD-1060 254 123 220 171.4 38 110.5 32.5 -2.5 4 36 M20x%2.5
i Size
FIZE Moder L M N P Q R S T U \% W(He) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 90 60 42 12 45 M10%x15 12 45 10 6
FD-1060 6~M16%x125 286 90 65 46 15 50 M10x15 12 50 10 6
$31% Spec. EINTFE mm TBEETRE (B mm| RSiEEE min'(r.p.m) | BPRBELHES] kgf | BE kg SEFHER L
HU5% Model: Plunger stroke (Dia.)| Slider stroke (Dia.) Max. speed Max D.B. pull kg.m’ Weight Matching cylinder
*FD-880 48 80 2500 1050 0.081 17.0 RS-1030N
3% Size G
HUZE Model. A B ) D E F max. min. H J K
*FD-880 200 85 150 175 44 32 58 10 1 10 M16x1.5
FI5E Mo dff S L) M N P Q R s T U v w X(H7)
*FD-880 18 32 70 6 16.2 20 87.5 64 36 102 12~M10 10

*RNVEEBEEEZIRR  BIREMHME © Model produced only by order.
|-
g




